J 1 gtl%rgol(kerStart Guide

snapmMaker

MAKE SOMETHING WONDERFUL

Y.3.B.A.0089-02 V1.1.0




Installation 4
Using the Printer e 12
Starting a Print 14
“ RESOUICES 16

Copyright © 2022 Snapmaker. All rights reserved.
These language versions of the guide are verified by the manufacturer (Original Instruction).

I8 Foreword | oo oo oz e

Before using your Snapmaker J1, make sure to read thoroughly and understand the Safety Guidelines.
Failure to follow the safety instructions may result in personal injury, inferior results, or damage to the
product.

Bevor Sie Ihren Snapmaker J1 verwenden, lesen Sie die Sicherheitsrichtlinien sorgféltig durch und verstehen Sie sie. Die Nichtbeachtung der
Sicherheitshinweise kann zu Verletzungen, schlechteren Ergebnissen oder Schaden am Produkt fiihren.

Avant d'utiliser votre Snapmaker J1, assurez-vous de lire attentivement et de comprendre les consignes de sécurité. Le non-respect des
consignes de sécurité peut entrainer des blessures corporelles, des résultats insatisfaisants ou des dommages au produit.

Antes de utilizar su Snapmaker J1, asegurese de leer detenidamente y comprender las normas de seguridad. El incumplimiento de las
instrucciones de seguridad puede causar dafios personales, resultados inferiores o dafios en el producto.

Prima di utilizzare Snapmaker J1, assicurarsi di leggere attentamente e comprendere le Linee guida sulla sicurezza. La mancata osservanza
di tali istruzioni puo causare lesioni personali, risultati inferiori o danni al prodotto.

£/ Snapmaker J1 &, EHRIMEFADRHIER L 2B ETRNAE RILL 215 1 RIEFIESBASHE FIERAREMRS, 39/~
IERRIF,

Snapmaker J1 ZfEAY 2RI REATTR IV L<FHABRL TS V.22 EOFRICHD BV RREROBN. FoldBMmDIB
BICOBRNBEREMD BDET,

Snapmaker J1 2 AFESH7| Mol @ 10| =25 HAS| o1 SXSHYAIR. o XA S WEX| ¢i2 22 B4, 2 Mot &

+ s,

i3

rr
ok

HE

s

4ol



74 In the Box

1. Snapmaker J1 3D Printer x 1

Snapmaker J1 3D Drucker ‘ Impr@qora 3D Snapmaker J
Imprimante 3D Snapmaker J1 ‘

2. Quick Start Guide x 1

Schnellstartanleitung | Guia de inicio rapido | RN )35 | WE
arapida | 74w IRX5—bAAR

Guide de démarrage rapide | Guida

3. Safety Guidelines x 1
Sicherheitsrichtlinien | Normas de seguridad | *;Z‘IW C: oF
Consignes de sécurité | Linee guida sulla sicurezza | %

4. Calibration Card x 1 ;
Kalibrierkarte | Tarjeta de calibracion | ROEER | EH 7t=
Carte de calibrage | Scheda di calibrazione |

5. Wiping Cloth x 1

Reinigungstuch | Pafio de limpieza |
Chiffon | Panno dipulizia | & ZBEXD

6. Filament x 2
Filament | Filamento | #44 | etdE
Filament | Filamento | 712 X>k

7. Left Door x 1

JAR

Linke TUr | Puerta izquierda | 717 | 2% =0
Porte gauche | Porta sinistra | A R7

8. Right Door x 1
Rechte Tur | Puerta derecha | Al | RE% £0]
Porte droite | Porta destra | AR7

9. Side Panel x 2
Seitenpaneel | Panel lateral | fllix | AtO|= o

Panneau latéral | Pannello laterale | -1 R/X%)L

10. PEI Glass Plate x 1
PEl-Glasplatte | Placa de vidrio PEI | PEIIFIEF& | PEIR
Plateau en verre PEI | Lastra di vetro PEl | PEI 51

11.Tool Box x1 @---------------oommmooooe

Werkzeugkasten | Caja de herramientas | TA& | 37 84
Boite a outils | Cassetta degli attrezzi | *V—JLRvI R

Lieferumfang | Enlacaja | 8% S
Contenu de 'emballage | Contenuto della confezione

N

HIA AZ

LER | 8
AEM—8

71 Snapmaker J1 3D ¥TEN# ‘ Snapmaker J13D Z2IH
Stampante 3D Snapmaker J1 ‘ Snapmaker J13D 71> 45—

AE Jto|E

N

to

N
\in

7L—avh—R

a. USB Flash Drive x 1
USB-Stick | Unidad Flash USB | U#& | USB Z2i{A| =2to|=
Clé USB | Unita flashUSB | USB 75w ak5+47
b. Tweezers x 1
Pinzette | Pinzas | 8% | EIN
Pincette | Pinzette | E>twhk

c. Power Cable x 1
Stromkabel | Cable de alimentacion | B3/RZE
Cable d'alimentation | Cavo di alimentazione |

d. Palette Knife x 1

'
!
'
'
!
'
'
!
'
'
!
'
'
!
'
'
!
'
'
!
;
| Spachtel | Espatula
'
!
'
'
!
'
'
!
'
'
!
'
'
!
'
'
!
'
'
!
'
'

| §77] | HelE Lol

FA7

Couteau a palette | Spatola di metallo | /\Lwi

e. Wire Brush x 1

Drahtbiirste | Cepillo metélico | MR | 2+0|
Brosse métallique | Spazzola metallica | 7%

0f E2{A|
Jov

f. Diagonal Pliers x 1
Seitenschneider | Pinzas diagonal |
Pince diagonale | Pinze diagonali | #

HFS51v—

g. Filament Holder x 2
Filamenthalter | Soporte de filamento | #1282
Porte-filament

)

alole

| Supporto del filamento | 7»(

e
XKL Y —

h. USB-B Cable x 1
USB-B-Kabel | Cable USB-B | USB-B4 | USB-B#0|
Cable USB-B | Cavo USB-B | USB-B 4 —7IL

. M3 x 6 Screw x 16
M3 x 6 Schraube | TornilloM3x6 | M3 X 6 182z
VisM3x6 | ViteM3x6 | M3 X 6 | M3 X 6LIAL

. M4 x 8 Screw x 4
M4 x 8 Schraube | TornilloM4 x 8 | M4 X 8 8822
VisM4 x8 | ViteM4x8 | M4 X8R | M4 X 8LEAF

k. Hot End Sock x 2
Abdeckung flr Heizblock | Cubierta de bloque caliente
Chaussette Hotend | Presa hotend |
RYRIVRYYY | SHAE &7

. 5.5mm Wrench x 1

B | izt 2240101 1 Hex Key x 4

5,5-mm-Maulschlissel | Llave inglesa de 55 mm | 5.5mm 7
Clé plate de 5,5 mm | Chiave inglese da 55 m

55mm L>F | 5.5mm &l

Inbusschliissel | Llave hexagonal | L Z! [ =2 i BN

Clé hexagonale | Chiave esagonale | L ZY7<

R

J 1Sty cicenes

44

777

X
N
(=]

)



s

[ ]
3 Installatlon ‘ Installation | Instalacion | RZEREHF | AX[st7|
Installation | Install azione | BXD{T (7

LMl Remove All Packing Materials

Alle Verpackungsmaterialien entfernen | Retirar todos los materiales de embalaje | Z
Retirer tous les matériaux d'emballage | Rimuovere tutti i materiali di imballaggio | 97X

4 5



WA Place the Printer Horizontally k] [nstall Filament Holders

Stellen Sie den Drucker waagerecht auf | Colocar la impresora en posicion horizontal | FEITEIY] | ZZIHE SHO2 HiX| Installieren Sie die Filamenthalter | Instalar los soportes de los filamentos | ZifliZe | tHE =0 MK
Placer limprimante de maniére horizontale | Posizionare la stampante orizzontalmente | /1) >4 —%KFICBE ST Installer les porte-filaments | Installare i supporti del filamento | 74 ZX>rRILY —%BIDAS T £9
snaproker | J1

3

”




&1 nstall Doors
Installieren Sie die Turen | Instalar las puertas | ZEESNE[T] | =0 HX|

Installer les portes | Installare le porte | R7#BOAT 1+ %

(

M4 x 8
x4

¥ Install Side Panels
Installieren Sie die Seitenpaneele | Instalar los paneles laterales | ZEEMIAR | AO|= T A K|

Installer les panneaux latéraux | Installare i pannelli laterali | -1 R/S®)LEZBXO{FIF £9

M3 x 6 i
x16 -

A




¥ Install the PEI Glass Plate kWA Connect the Power Cable

Installieren Sie die PEI-Glasplatte | Instalar la placa de vidrio PEI | %% PEI IRIET A | PEI Q2T AX| SchlieRen Sie das Netzkabel an | Conectar el cable de alimentacion | JEEERL%
Installer le plateau en verre PEI | Installare la lastra di vetro PEI | PEI A5 2 REEOHF F9 Connecter le cable d'alimentation | Collegare il cavo di alimentazione | )

CAUTION
GLASS &~

Handle with Care s




Using the Printer

4.1 Turn on the printer.
Schalten Sie den Drucker ein
Allumez l'imprimante
Encender la impresora
Accendere la stampante
FTFFERJRH

S5 —

DEIREANET,

’i

4.2 Follow the guidance of the Touchscreen to set up your printer.

Folgen Sie den Anweisungen auf dem Touchscreen, um Ihren Drucker einzurichten

Suivre les instructions fournies a I'écran tactile pour configurer votre imprimante

AR AR Y
FYFRIV)—=>DHAY VRIS
{| I

E{X|A2210] QlLto et melE S X

a. Complete the general settings.

Vervollstandigen Sie die allgemeinen Einstellungen

nen
NRER

snapmaker

b. Follow the Wizard to complete the steps needed to start a print.

Folgen Sie dem Wizard, um die zum Starten ein

s Druckvorgangs erforderlichen Schritte auszufiihren

Suivre I'Assistant pour procéder aux étapes r res au lancement d’'une impression

Seguir el Asistente f

Seguire la Procedura guidata per completare i passaggi necessari per avviare la stampa

=R

] BLFIBE
7I0| = tfaf Q144 ¢ st tRefLch

Wizard

We will guide you through the basic preparations for the machine to start
printing, including five main steps as follows (about 30-40 min).

o Heated Bed Leveling

o Z Offset Calibration

o XY Offset Calibration

o Offset Calibration Check

* Vibration Compensation Calibration

oter




Starten eines Drucks | Iniciar una impresion

° °
5 Sta rtl n a P rI nt ‘ Lancement d'une imp n | Awvio della stampa
g FFAFTED | U DRREE | Q14f AIEESEY|

5.1 Download our slicing software at https://support.snapmaker.com and install it on your computer.

Laden Sie unsere Slicing-Software unter https://support.snapmaker.com herunter und installieren Sie es auf lhrem Computer.

Télécharger notre logiciel de découpage sur https:/support.snapmaker.com et I'installer sur votre ordinateur.

Descargar nuestro software de slicing desde https:/support.snapmaker.com e instalarlo en el ordenador.
Scaricare il nostro software di slicing dal sito https:/support.snapmaker.com e installarlo sul computer.
B1E https:/snapmaker.cn T & H 23 FA I E ko
DTV T M https/support.snapmaker.com H54 0>
2210|A 2T EQ0{Z https:/support.snapmaker.com 0l A CH2 2

—RLTHBELOIVEa—F— IV AN—LLET,
StOf AFE{Of ERIRILICE

]
=

5.2 Slice your model and generate the G-code file in the slicing software.

Slicen Sie Ihr Modell und generieren Sie die G-Code-Datei in der Slicing-Software

Découper en tranches votre modeéle et générer le fichier de code G dans le logiciel de découpage
Cortar el modelo y generar el archivo de cddigo G en el software de slicing.

Selezionare il modello e generare il file Codice G con il software di slicing

BRI R ESFNRILEI TR, £k G K15,

2AZAR) TN TCETINERTAALT.GC A—RI77ILE2ERLET,

DS S2t0|A5t1 S210]d AL ER0{0|M G-code LS A BlLICE,

(®) Generate printing commands o 11 A0OY (2WEminERans... «  [S) Machine Monitor

5.3 Send the G-code file to the printer via Wi-Fi or USB flash drive.
Senden Sie die G-Code-Datei per Wi-Fi oder USB-Stick an den Drucker.
Envoyer le fichier de code G vers I'imprimante via Wi-Fi ou une clé USB
Enviar el archivo de cddigo G a la impresora a través de Wi-Fi o una unidad flash USB.
Inviare il file Codice G alla stampante tramite Wi-Fi o unita USB
18 G RSB Wi-Fi 3% U BEIXEITEDNo
Wi-Fi £721& USB 75w aRS1 7N LT G A—RI7IILE TS —ITEELET,
Wi-Fi E£= USB S2HA| E210|ES S0l G-code U S L2IE2 HHL|TE

5.4 On the Touchscreen, tap the blank area in the home screen to select the file to print.
Tippen Sie auf dem Touchscreen auf den leeren Bereich auf dem Startbildschirm, um die zu druckende Datei auszuwahlen
Sur I'écran tactile, appuyer sur la zone vierge de I'écran d'accueil pour sélectionner le fichier a imprimer.
En la pantalla tactil, hacer clic sobre la zona en blanco de la pantalla de inicio para seleccionar el archivo que se quiere imprimir.
Sullo Schermo a sfioramento, toccare I'area vuota sulla schermata iniziale per selezionare il file da stampare
EREFNEIREL REERTAL, BIENEEXXHFFIATEL
GYFRI)—>TOR—LBEEOEHOEEEY Y SL T TV 2T77 1L E#IRLES,

EiX|AZ2I0lN = oteio] Hl 37te =2 ol IS Mg Ct

s el O sU=s

IDEX

== Control A calibration




E Resourses | i | 75

A detailed User Manual is available on our Support website:

Select Snapmaker J1 > Go to User Manual.

Ein ausfiihrliches Benutzerhandbuch ist auf unserer Support-Website verfigbar:
Wahlen Sie Snapmaker J1 > Gehen Sie zu Benutzerhandbuch.

Un manuel d'utilisation détaillé est disponible sur notre site web d'assistance
Sélectionner Snapmaker J1 > Accéder au Manuel d'utilisation.

Se puede consultar el Manual de usuario detallado en nuestra pagina web de Servicio técnico:
Seleccionar Snapmaker J1 > Ir a Manual de usuario.

Il Manuale dell'utente dettagliato e disponibile sul nostro Sito di supporto:
Selezionare Snapmaker J1 > Manuale dell'utente.

IRBILERRA B9S24 0 (https://snapmaker.cn) SRER—{¥ 4089 FE 7~ 47 -
¥ Snapmaker J1 > 5iE AP F .

AR —F - ZaTILIE HH DY R—~ Web A R TAFTEE T,
Snapmaker J1 Z3EAT > A== ZaFILITEA TSIV,

KpMet Abg HEM= X A EOf| M ZHole 4= ELICH

Snapmaker J1 ME{ > AL MHMZ 0|5,

https://support.snapmaker.com

The latest version of this guide is on our Support website:
Select Snapmaker J1 > Go to Quick Start Guide.

Die neueste Version dieser Anleitung finden Sie auf unserer Support-Website!
Wahlen Sie Snapmaker J1 > Gehen Sie zu Schnellstartanleitung.

La derniére version de ce guide est disponible sur notre site web d'assistance
Sélectionner Snapmaker J1 > Accéder au Guide de démarrage rapide.

La ultima version de esta guia se puede consultar en nuestra pagina web de Servicio técnico:
Seleccionar Snapmaker J1 > Ir a Guia de inicio rapido.

L'ultima versione della guida & disponibile sul nostro Sito di supporto!
Selezionare Snapmaker J1 > Guida rapida.

1EIRRSEZFFFI0 (https://snapmaker.cn) SREXASIE R B SR ThR A4S ©

i%4%¥ Snapmaker J1 > I IRENI 3B,

CDAAROTRHMARIE B DY R—~ Web A~ TAFTEET,
Snapmaker J1 ZEAT > JAYIRF—=bHARISEATE IV,

2 710|229 H A HT2 LIS X[ ZALO|E0l AELICE.

Snapmaker J1 418 > #E2 A%k 7}0|E2 0|5,

https://support.snapmaker.com

We are here for you whenever you need general information or technical support:
Wir stehen lhnen gerne zur Verfligung, falls Sie allgemeine Informationen oder technische Unterstiitzung bendtigen

Nous sommes a votre disposition pour toute information générale ou assistance technique
Estaremos encantados de atenderlo si necesita mas informacién o soporte técnico:

Per informazioni generali 0 assistenza tecnica, contattaci al seguente indirizzo:

HIRFREZ WP AR AR, A BN IRARSS
—RIBRPEM TR — PR ERIBE . VO THREICHBLEDETZ IV,

et HEL 7S X0 ERdts 2 T3 O|HYE 2olSHIAIR.

support@snapmaker.com

16

Purchase spare parts and materials:
Ersatzteile und Materialien kaufen:

Achetez des pieces détachées et matériaux :
Comprar piezas de recambio o material

Visita il nostro sito per I'acquisto di ricambi e materiali
ML & R I RNERITE:

AT IN=Y EMEIERENT BIC1E:

A0} 22 2 M= o

US: https://us.snapmaker.com
EU: https://eu.snapmaker.com
Non EU/US: https://shop.snapmaker.com

Share anything you want with other Snapmaker users in our community:

Teilen Sie alles, was Sie mochten, mit anderen Snapmaker-Benutzern auf unserem Forum:
Partagez dans notre communauté tout type de contenu avec les autres utilisateurs de Snapmaker
Comparta sus opiniones con otros usuarios de Snapmaker en nuestro foro:

Condividi idee e tanto altro con gli utenti della community Snapmaker:
MREIATE AT X B 5 E M Snapmaker AR —#2337

CEE% Snapmaker DI a7 OMDI—HF—r HBL TSIV,

FFLIE|0O|A] CHZ Snapmaker ALE At 2ISHs HEE SROHIAIL.

https://snapmaker.com/community




